NASA ARSET  Winter 2014 Webinar

Week 2 Assignment.


Name
1. List  three steps from the remote sensing process which can introduce uncertainties in satellite products. For each one that you selected explain what uncertainties can be introduced at that step. 
2. Why are there two identical MODIS sensors flying, one on the Terra   and one on the Aqua satellite?
3.      What is the probable negative trade off when choosing a sensor with very high spatial resolution?
 4.      Increasing the number of brightness levels of a sensor (providing additional bits) results in: 
· 

High Temporal Resolution

· 

High Spatial Resolution

· 

High Radiometric Resolution

· 

High Spectral Resolution
 5. What is the difference between pixel size and product size?
   How do the sizes of the two compare?
 6. Which satellite is daytime ascending orbit and which one is  daytime descending orbit? 
7. An orbit that has the same as Earth's rotational period called? * 
· 

a Polar Orbit

· 

b Geostationary orbit

· 

c None

· 

d both a & b
        8. What are satellites measuring if they cannot directly measure pollution? 
         9. The spectral resolution of satellite sensor is related to: * 
· 
a
area

· 
b
brightness level

· 
c
color

· 
d
observation frequency
         10. What is the main advantage and disadvantage of an active sensor?   You may have to think about some of the information from week 1 to answer this question. 
